Run 5524 quartetwise, posHQ: Beam DH
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Run 5524 quartetwise, asym0Osub: Beam ON
— Laser ON Eniries: 33952 Enfries: 13425
4':}'3{]':} — Mearn: 32,8707 &'~ 1.2047 Mean: 0,153 «/- 0.0FE3
— — Laser OFF Sid Dev: 2166254 +/- 0.8155 Std Dev: 9.0758 +.- 0.0554
35000 —
30000 —
25000 —
20000 —
15000 —
10000 —
5000 —
'DZI""""llllllllllllllll
10000 O 10000 20000 20000 40000

Run 5524 quartetwise, negHO: Beam DIN
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-------- Histogram Vars

Positive Hel (ON): 15.690880 +/- 0.007547
Negative Hel (ON): 14.808333 +/- 0.007112
Positive Hel (OFF): 1.401552 +/- 0.001753
Negative Hel (OFF): 1.397195 +/- 0.001749
-------- Sums and Diffs

On Diff: 0.882547 +/- 0.002728

Off Diff: 0.004357 +/- 0.002170
On Sum: 30.499212 +/- 0.014410

Off Sum: 2.798747 +/- 0.002750
-------- Asymmetries
On Asym: 31.860358 +/- 0.099925 (ppt)
Off Asym: 0.157302 +/- 0.078330 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 27.700465 +/- 0.014670
BkSub Asym: 31.703056 +/- 0.126967 (ppt)
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asym (AccO) / ppt

Run 5524 quartetwise, posHO vs time
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Run 5524 quartetwise, asymQ0sub vs time
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Run 5524 quartetwise, negHO0 vs time
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Run 5524 quartetwise, bcm vs time
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